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T %7433] (w¢] : d9)
i NI IR 42712 (Q)
B I L B i B A B

7. 9 A ET (T~ ) 7,200 7,200 0
1. 05390 7,200 7,200 0
8. PN FEF (SR A U3} 1,500 1,500 0
1. 05290 1,500 1,500 0
9. 497 FzrgAsta N 40,000/ 40,000 0
1.8k 84| 10,000 10,000 0
2.9 7,000 7,000 0
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4. a9 17,536 17,536 0
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4.35A94d &9 57,183| 52,862 4,321
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2.9 F 751 850 850 0
2.8 88 55,383 51,062 4,321
1.8 w4 nsA Y 55,383| 51,062 4,321

1.5 $9n) 4,331 3,300 1,031/ EY  1,031,0009)= 1,031,000

2.1 E T4 51,052| 47,762 3,290 AFEHEA 780,0009) X 3th= 2,340,000

AFEHEYE  190,0009 x5t)= 950,000
5.:501 7)A 87,264| 87,264 0
1. 5873714 87,264 87,264 0
1.awe] w3 A 67,258 67,258 0
1.duk 81 11,538 11,538 0
2.9 3F T3] 55,720/ 55,720 0
2.7F84 =5 34 Ad 20,006 20,006 0
1.Yguk541) 15,543 15,543 0
2. HFETYH] 4,463 4,463 0
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QA EA 2 o Akl | o Ak oY =%

215,987 214,428 1,559
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2 252,0009)= 252,000
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;’;‘ﬁ]qa%“‘m‘?‘ 3,132 4,132 -1,000 FWATABEEE -1,000,00091= ~1,000,000
R e ML 3,200 3,200 0
171 A k4 1709 3,200 3,200 0
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i NI IR 42712 (Q)
24 w9 A% ARgE  angAume | E e S
2. A4 Ay A 107,439 105,873 1,566
1.8k Al ) 6% 107,439 105,873 1,566
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